KAM CERT NEMUZE, STRCI -7 -
COJE-7-,TO JE CERTEM

~ . . CERT NIKDY -7
-— CIN CERTU DOBRE, PEKLEM SETI - 7

CERTOVSKY ZAVOD - 28. 11. 2024 it

CERT, ABYTO - ?

VENKU SE VSICHNI CERTI - ?

KOHOTO SEM CERTI - ?

NEMALUJ CERTA NA - ?

- 7-SECERTU

TO MIBYL CERT-7-

S CERTY NEJSOU -7 -

~—
B-ODMENI ¢=VzAl %
D=NESOU E-UPSAL F-ZERTY

G-KRIZE H-DIUZEN CH-ZED

- BOJI SE JAKO CERT - 7 -
e e : |Tobias Novak
2 |Tonda Stastny 8:43
3 |Vilda Stastny 950 pekelné t8£+Ad8:C621 trat (13 kontrol
_ 4 [Michal Fikar 10:09 1 |Mikulds Klusacek 17:59
1 |p Rostislav Klusacek 2:54 5 |Vojta Kysela 10:25 2 [Lukas Pokorny 21:59
2 |Anicka Dostalkova 3:29 6 |Roman Kysela 11:56 3 |Zita Petfickova 23:20
3 |Katka Uvrbanové 3:30 7 |Rostislav Klusacek 12:18 4 |Sarka Bukackova 23:54
4 |p Vilda Stastny 3:35 8 [Matéj Brzek 12:34 5 |Bétka Zvolankova 25:12
> |p Michal Fikar 3:56 9 |Julie Klusackova 12:51 6 |Anicka Bohacova 25:46
6 |p Vojta Kysela 4:12 10 Barunka Kyselova 13:32 7 |Anicka Novakova 25:59
7 |Albina Vydrova 4:26 11 [Dana Kyselova 13:34 8 [Johanka Klusackova 28:43
8 |Anicka Urbanova 4:54 12 |Hyne&ek Stastny 17:03 9 |Anicka Dostalkova 29:53
9 |Rozdrka BVOhééOVé 5:23 13 |Anic¢ka Urbanova 17:34 10|Lenka Petfi¢kova 30:44
10 | Hynecek Stastny >:31 14 |Tereza MuZatkova 20:24 11 |Martin Pavlas 31:17
11|Dusan Vacek >:53 15 [Albina Vydrova 21:35 12 [Honzik Dostalek 32:26
12|Honzik Belatka 213> 16|Rozérka Bohacova 2231 | [13[Pavel kriz 34:41
13|Majda Fikarova 6:18 17|zdena Kizov 22:44 | |- [Tobias Novak DISK
14|Verca Dolezanova 6:40 18|Alena Stastna 23:53 - |Tonda Stastny DISK
15 |Karkoszkovi 6:59 19 (Majda Fikarova 24:45 - |Vojta Kysela DISK
16 | Vanesa Krovova 7:15 20|Sofie Konfrstova 27:46 - [Roman Kysela DISK
17 |Nikolka Cvermakova 9:58 21|Katka Urbanova 29:54 - |Rostislav Klusacek DISK
18 |Terezka Cermakova 10:08 22|Vanesa Krovova 30:10 - |Dusan Vacek DISK
- |Albina Vydrova DISK 23 |Terezka Cermékova 35:03 - |Honzik Belatka DISK
24|Nikolka Cermakova 35:04
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